Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder
To Company Name/Scheme LEBEND CORPARATION LIMITE
ACN/ARSN 102 631 067
1. Details of substantial holder(1)
Name KETTH KNOWLES
ACN/ARSN (if applicable)
There was a change in the interests of the Substantial holder on 7/4/2016
The previous notice was given to the company on 14/2 2014
The previous notice was dated 14 12 2014
Previous and present voting power
The total number of votes attached to all the voting shares in the company or voting interests in the scheme substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to substantial holding notice to the company or scheme, are as follows:
Class of securities (4) Previous notice 14/12/2014 Present notice 7/6/2016
Fully Paid Ordinary Person's votes Voting power (5) Person's votes Voting power (5)
shares 16,522,7/2 7,53% 19,178,243 8,78%
Changes in relevant interests
Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an asso oting securities of the company or scheme, since the substantial holder was last required to give a substantial otice to the company or scheme are as follows:
Date of change Person whose relevant interest changed (6) Nature of change given in relation to change (7) Consideration given in relation to change (7) Class and number of securities affected
SPE ANNEX A. B. C. ED.

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	I TOUSTELED HOUSE	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
	500	Annox	ABC	PD atto	Coel

Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association

Addresses

The addresses of persons named in this form are as follows:

Address
70, POYTH CHRISTE BOOK

Signature

capacity

Sign here

DIRECTIONS

- If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related (1) corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of
- See the definition of "associate" in section 9 of the Corporations Act 2001.
- See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- The voting shares of a company constitute one class unless divided into separate classes.
- (2) (3) (4) (5) (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- Include details of:
 - any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection (a) 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and (b)
 - any qualification of the power of a persons to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).
 - See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.
- Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest (7) was acquired has, or may become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant
- If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) (8)
- Give details, if appropriate, of the present association and any change in that association since the last substantial holding (9)



		nnov			
Additions EK	A		1		
3-Sep-15	LGD	BUY #	#	0.25	18,027
10-Jul-15	LGD	BUY #	70.	0.26	
5-Mar-15	LGD	BUY #		0.23	
16-Dec-14	LGD	BUY #		0.23	*
	LGD			0.24	
EDNA K		#	F		51,906
Summary					
Held	BUY	SELL	K	(K held	TOTAL HELD
7-Jun-16	518356	581312		444910	
7-Jun-16		0		2458945	
7-Jun-16	184818	90569	1	8,767,850	11,671,705
	4.470504	558497			3,007,181
7-Jun-16	1479534	556497			0,007,101
7-Jun-16 7-Jun-16	217572	0			4,499,357

ANNEX B

27-May-16 96816018 LGD BUY 1,020 0.23 249 25-May-16 96770551 LGD BUY 5,455 0.22 1193 23-May-16 96698785 LGD BUY 14,900 0.21 3074 23-May-16 96674161 LGD BUY 1,275 0.21 268 20-May-16 96665911 LGD BUY 225 0.21 47 18-May-16 96589485 LGD BUY 1,000 0.20 215 17-May-16 96516726 LGD BUY 6,270 0.19 1180 12-May-16 96403413 LGD BUY 18,229 0.19 3483 4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 3,000 0.22 680 23-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953							
23-May-16	27-May-16	96816018	LGD	BUY	1,020	0.23	249
23-May-16 96674161 LGD BUY 1,275 0.21 268 20-May-16 96665911 LGD BUY 225 0.21 47 18-May-16 96589485 LGD BUY 1,000 0.20 215 17-May-16 96516726 LGD BUY 6,270 0.19 1180 12-May-16 96403413 LGD BUY 18,229 0.19 3483 4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 53,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 184,818 40870 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	25-May-16	96770551	LGD	BUY	5,455	0.22	1193
20-May-16 96665911 LGD BUY 225 0.21 47 18-May-16 96589485 LGD BUY 1,000 0.20 215 17-May-16 96516726 LGD BUY 6,270 0.19 1180 12-May-16 96403413 LGD BUY 18,229 0.19 3483 4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 3,643 0.24 12626 27-Nov-15 92372244 LGD BUY 35,000 0.23 8075 184,818 40870 11-Feb-16 94106029 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 3,603 0.27 </td <td>23-May-16</td> <td>96698785</td> <td>LGD</td> <td>BUY</td> <td>14,900</td> <td>0.21</td> <td>3074</td>	23-May-16	96698785	LGD	BUY	14,900	0.21	3074
18-May-16 96589485 LGD BUY 1,000 0.20 215 17-May-16 96516726 LGD BUY 6,270 0.19 1180 12-May-16 96403413 LGD BUY 18,229 0.19 3483 4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 3,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 18-Jan-16 94106029 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	23-May-16	96674161	LGD	BUY	1,275	0.21	268
17-May-16 96516726 LGD BUY 6,270 0.19 1180 12-May-16 96403413 LGD BUY 18,229 0.19 3483 4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 3,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	20-May-16	96665911	LGD	BUY	225	0.21	47
12-May-16 96403413 LGD BUY 18,229 0.19 3483 4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 53,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	18-May-16	96589485	LGD	BUY	1,000	0.20	215
4-May-16 96186291 LGD BUY 14,000 0.20 2820 28-Apr-16 95980410 LGD BUY 30,000 0.23 6775 22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 53,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	17-May-16	96516726	LGD	BUY	6,270	0.19	1180
28-Apr-16	12-May-16	96403413	LGD	BUY	18,229	0.19	3483
22-Dec-15 92934789 LGD BUY 801 0.23 184 18-Dec-15 92900974 LGD BUY 53,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 184,818 40870 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	4-May-16	96186291	LGD	BUY	14,000	0.20	2820
18-Dec-15 92900974 LGD BUY 53,643 0.24 12626 27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 184,818 40870 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	28-Apr-16	95980410	LGD	BUY	30,000	0.23	6775
27-Nov-15 92372244 LGD BUY 3,000 0.22 680 23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 184,818 40870 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	22-Dec-15	92934789	LGD	BUY	801	0.23	184
23-Nov-15 92253660 LGD BUY 35,000 0.23 8075 184,818 40870 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	18-Dec-15	92900974	LGD	BUY	53,643	0.24	12626
184,818 40870 11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	27-Nov-15	92372244	LGD	BUY	3,000	0.22	680
11-Feb-16 94106029 LGD SELL 38,123 0.22 8522 18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	23-Nov-15	92253660	LGD	BUY	35,000	0.23	8075
18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953					184,818		40870
18-Jan-16 93515695 LGD SELL 34,843 0.23 7989 16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953							
16-Dec-15 92833746 LGD SELL 14,000 0.23 3130 18-Aug-15 89926980 LGD SELL 3,603 0.27 953	11-Feb-16	94106029	LGD	SELL	38,123	0.22	8522
18-Aug-15 <u>89926980</u> LGD SELL 3,603 0.27 953	18-Jan-16	93515695	LGD	SELL	34,843	0.23	7989
	16-Dec-15	92833746	LGD	SELL	14,000	0.23	3130
90,569 20594	18-Aug-15	89926980	LGD	SELL	3,603	0.27	953
					90,569		20594

	held	2,040,337
17/03/2016	buy	9,333
18/03/2016	buy	209,275
29/04/3016	buy	200,000
	Total	2.458.945

ANNEX C

17-May-16	LGD	BUY	6,946	0.19	1,305
6-May-16	LGD	BUY	28,102	0.20	5,500
6-May-16	LGD	BUY	5,002	0.20	1,006
22-Apr-16	LGD	BUY	1,600	0.23	388
19-Apr-16	LGD	BUY	20,006	0.23	4,521
10-Mar-16	LGD	BUY	5,499	0.24	1,312
16-Dec-15	LGD	BUY	3,000	0.22	680
2-Dec-15	LGD	BUY	75,000	0.22	16,145
1-Dec-15	LGD	BUY	45,418	0.22	9,775
27-Nov-15	LGD	BUY	10,582	0.22	2,295
19-Nov-15	LGD	BUY	26,105	0.23	6,024
13-Nov-15	LGD	BUY	53,470	0.23	12,184
12-Nov-15	LGD	BUY	117,680	0.23	26,802
26-Oct-15	LGD	BUY	1,000	0.26	280
5-Oct-15	LGD	BUY	15,000	0.26	3,845
29-Sep-15	LGD	BUY	414	0.27	132
17-Sep-15	LGD	BUY	38,000	0.26	9,900
10-Sep-15	LGD	BUY	30,000	0.26	7,650
9-Sep-15	LGD	BUY	10,079	0.25	2,589
21-Aug-15	LGD	BUY	3,702	0.27	1,001
15-Jul-15	LGD	BUY	4,000	0.26	1,040
31-Dec-14	LGD	BUY	17,751	0.23	4,103
			518,356		118,476
25-Nov-15	LGD	SELL	353,500	0.21	75,579
11-Nov-15	LGD	SELL	31,320	0.24	7,517
10-Nov-15	LGD	SELL	67,492	0.24	16,168
29-Apr-15	LGD	SELL	129,000	0.23	29,637
KKI			581,312		128,901

date			qty		\$
31-May-16	LGD	BUY	6,000	0.22	1,343
23-May-16	LGD	BUY	165,033	0.21	34,695
17-May-16	LGD	BUY	9,274	0.19	1,736
17-May-16	LGD	BUY	115,000	0.19	21,298
13-May-16	LGD	BUY	12,500	0.19	2,334
13-May-16	LGD	BUY	130,000	0.19	24,727
12-May-16	LGD	BUY	130,516	0.19	24,825
10-May-16	LGD	BUY	98,380	0.19	18,713
3-May-16	LGD	BUY	12,733	0.20	2,503
2-May-16	LGD	BUY	102,002	0.20	20,423
29-Apr-16	LGD	BUY	4,002	0.22	880
14-Mar-16	LGD	BUY	1,499	0.24	352
11-Mar-16	LGD	BUY	18,501	0.24	4,368
13-Nov-15	LGD	BUY	910	0.24	234
12-Nov-15	LGD	BUY	99,541	0.23	22,671
28-Oct-15	LGD	BUY	1,500	0.26	383
27-Oct-15	LGD	BUY	8,500	0.26	2,187
26-Oct-15	LGD	BUY	5,079	0.26	1,295
21-Oct-15	LGD	BUY	14,873	0.26	3,813
20-Oct-15	LGD	BUY	100,000	0.26	25,528
25-Sep-15	LGD	BUY	1,200	0.27	344
24-Sep-15	LGD	BUY	83,115	0.26	21,662
16-Sep-15	LGD	BUY	100,000	0.26	26,029
9-Jan-15	LGD	BUY	30,000	0.24	7,050
7-Jan-15	LGD	BUY	10,376	0.24	2,438
6-Jan-15	LGD	BUY	2,800	0.24	678
2-Jan-15	LGD	BUY	16,200	0.24	3,910
31-Dec-14	LGD	BUY	811	0.24	195
18-Dec-14	LGD	BUY	199,189	0.24	46,880
			1,479,534		323,494
10-Jul-15	LGD	SELL	478,497	0.26	124,272
31-Dec-14	LGD	SELL	62,000	0.25	15,498
30-Dec-14	LGD	SELL	7,000	0.25	1,750
29-Dec-14	LGD	SELL	11,000	0.25	2,730
			558,497		144,250